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	The table shows how well two substances (potassium nitrate and potassium chloride) dissolve in water at different temperatures. The ‘solubility’ is the number of grams that dissolve in 100 cm3 of water
	Temperature (°C)
	Solubility of potassium nitrate
(g/100 cm3)
	Solubility of potassium chloride
(g/100 cm3)

	
	10
	  20
	32

	
	20
	  30
	35

	
	30
	  44
	36

	
	40
	  60
	38

	
	50
	  78
	40

	
	60
	100
	42


1 Plot a line graph to show these results.

· Choose a different colour for each solid, and show these in the key.

· Plot the points on the graph, and join the dots with straight lines.
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2 Use your graph to help you answer the questions. Choose the correct words or numbers from the brackets.

a
When the temperature goes up, the mass of solid that dissolves 
 
(goes up/goes down/stays the same).

b
At 10 °C, more potassium 
 (chloride/nitrate) dissolves.

c
At 40 °C, more potassium 
 (chloride/nitrate) dissolves.

d
At 55 °C, you would expect 
 (31/36/41/48) grams of potassium chloride to dissolve.

e
To get 70 grams of potassium nitrate to dissolve, you would need to heat the water to about 


 (25/35/45/55) degrees.

I can…

· draw and interpret a line graph.
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